



d.) kinetic equation for  $F$ :  $\frac{\partial F}{\partial t} + \frac{dx}{dt} \nabla_x F + \frac{dk}{dt} \nabla_k F = 0$

Ray equations  $\frac{dx}{dt} = v_g$ ,  $\frac{dk}{dt} = -\frac{\partial \omega}{\partial x} = -\frac{\partial}{\partial x} (\omega_0 + \tilde{\omega}) = -i\mathbf{K} \tilde{\omega}$

$\Rightarrow -i\Omega \tilde{F} + v_g i\mathbf{K} \tilde{F} - i\mathbf{K} \tilde{\omega} \nabla_k F_0 = 0$   $\frac{\partial}{\partial x} \rightarrow i\mathbf{K}$  (Lagrange wave number)

$$\Rightarrow \boxed{\tilde{F} = -\frac{\tilde{\omega} \mathbf{K} \cdot \nabla_k F_0}{\Omega - \mathbf{K} \cdot \vec{v}_g}}$$

$\tilde{\omega}$ ?  $\omega^2 = \omega_{pe}^2 (1 + \frac{\tilde{n}}{n_0}) = \omega_0^2 + 2\tilde{\omega}\omega_0 + \tilde{\omega}^2$   $\omega_0^2 = \omega_{pe}^2$

$\Rightarrow \boxed{\tilde{\omega} = \frac{\omega_{pe}^2}{2\omega_0} \frac{\tilde{n}}{n_0}}$   $\tilde{\omega}^2$  2<sup>nd</sup> order

e.)  $\nabla \cdot \vec{\tilde{J}} = -\nabla \cdot \frac{\omega_{pe}^2}{2} \nabla \int \frac{F_0 + \tilde{F}}{\omega_0 + \tilde{\omega}} d^3k = -\frac{\omega_{pe}^2}{2} \nabla^2 \int \frac{1}{\omega_0} \frac{F_0 + \tilde{F}}{1 + \tilde{\omega}/\omega_0} d^3k$

$\approx -\frac{\omega_{pe}^2}{2\omega_0} \nabla_x^2 \int d^3k (F_0 + \tilde{F}) (1 - \frac{\tilde{\omega}}{\omega_0})$   
 $= F_0 + \tilde{F} - \frac{\tilde{\omega}}{\omega_0} F_0 - \frac{\tilde{\omega} \tilde{F}}{\omega_0}$

$= -\frac{\omega_{pe}^2}{2\omega_0} \int d^3k \left[ -\mathbf{K}^2 \tilde{F} + \frac{F_0}{\omega_0} \mathbf{K}^2 \tilde{\omega} \right]$

$= \frac{\omega_{pe}^2 \mathbf{K}^2}{2\omega_0} \int d^3k \left[ \frac{\omega_{pe}^2}{2\omega_0} \frac{\tilde{n}}{n_0} \left( \frac{\mathbf{K} \cdot \nabla_k F_0}{\Omega - \mathbf{K} \cdot v_g} + \frac{F_0}{\omega_0} \right) \right]$

$\Rightarrow -\Omega^2 + \omega_{pe}^2 + 3v_{Te}^2 \mathbf{K}^2 = -\frac{\omega_{pe}^4 \mathbf{K}^2}{4\omega_0^2 n_0 m} \int d^3k \left( \frac{\mathbf{K} \cdot \nabla_k F_0}{\Omega - \mathbf{K} \cdot v_g} + \frac{F_0}{\omega_0} \right)$